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word w; # w is a variable of type word
word A[100]; # A is a word array with 100 entries
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The Simple Language of NIT Compiler Course
Global variables

Block

Nested

= W N =
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word sum(word a, word b)

{
word sum;
sum = a + b;
return sum;
}
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word suml00 (word A[100])
{
word sum;
word 1i;
i=20;
sum = 0;
while (i < 100) {
sum = sum + A[i];
i=13i4+1;
}

return sum;

}
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word main ()

{

return O;

1 Scope
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# inefficient calculation of Fibonacci sequence

word fib (word n)

return fib(n - 1) + fib(n - 2);
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{
if (n < 2)
return 1;
}
readword()
printword()

prog ::

func ::
body ::

stmt ::

func |
func prog
word iden
stmt |
stmt body
expr ; |
def ; |
if ( expr

if ( expr

Al o Ol ayluiliwl gy g1y sae SO ylade

( flist )

) stmt |
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{ body }

) stmt else stmt |
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while ( expr ) stmt |
return expr ; |
{ body }

def ::= word iden |

word iden [ num ]

iden = expr |
iden ( clist ) |
iden [ num ] |

expr

expr + expr
expr - expr

expr * expr

I

|

I
expr / expr |
expr % expr |
expr < expr |
expr > expr |
expr == expr |
expr <= expr |
expr >= expr |
expr | expr |
expr & expr |
expr = expr |
expr || expr |
expr && expr |
! expr |
- expr |
+ expr |
" expr |
( expr )
iden |
num

I
def |
def , flist

I

expr |

flist

clist

expr , clist
num ::= [0-9]+
iden ::= [a—zA-Z_] [a—-zA-Z_0-9]*



